Leckure 27 Couchy and ¢4

\Wednesday, December 10, 2014
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Let P ond c‘,loe, an‘mc.s, P<9 ,?,{rc}_l. Let G be

o %‘n&e %mw?-

IGl=p3 S= ~ 7

3 N3G, IN|=¢

‘REmovrk 1. "The assum? on of existence of N is NOT

Needed . Using Syl theorems, one can prove. Hhis.

2. (Dhenever e are asked to show GxZ , e
need fo shoed that G is cyclic. Sine we have
poed bt o cyclic goup of sizen s isomarphic
b Z,.

3. To show a goup of size n s cyclie, e
have do Pind on element of order n .

PR, Let exbeN = ody#1 wd oy Nl
Opn Loﬁromae,)
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= olb)= 9% (as 4 s Prime)
= Kby |=ch=q=IN| = <b>=N 4 G.
By CO\wc.tu,A'S theorem, J0e &, o@=%-
[® coe shod that ab=ba, then since ged@om,odn)=t
0(ab) = oy och) — Y
cohtch u‘h\?lces G is caclcc,. Ard soe GNZ

<byaG = T i, abit= b,

o <1<9-|
AnJ 10 08 otheraise abor I=e,=> ‘9:07'0\:&,
cohich ts & contradiction.
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re‘»..\-ln‘mé 5

= 1

(cho\ll 8Q=3f( < *Q E"Q Ch\mlocy).
P
(S

: . X
— o([m]cY) [P ln Z%

= either o ([1]}) =1 or o[ 1:]?)= P
‘ X
On the other lhaed OC[‘L:LQ \ \ZT\ by Loamnje,
Recsll » Z, = the goup of unibs
=301 | ged@m=18
. \Z_:\—_—. Py ond PEA=9-1I
Stnee. «Mrc‘__\ , o([l-](})::\. = [ﬂ}: [\'.\1.

=% 1=1 — ab=ba ond oo ave done. ]
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